Test 1 Review compacted

Name

I é—:"‘j/

Date

Period

Complete each decimal problem. Circle your answers. You MUST SHOW YOUR WORK to receive full credit.

Find each sum or difference. All fractions must be in simplest form.
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Identify the property shown by each mathematical statement.
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O+x=x
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Solve,

36.
At the supermarket, Jalen -
bought three kinds of meat.

He purchased g pound of
roast beef, 41 pounds caf'ham,

and % pounds of turkey.

Which choice déscribes the
total weight of the meats?

a. less than 1 pound

b. between 1and 1% pounds
c. between 1% and 2 pounds
d. more than 2 pounds

37. :
When Derek planted a tree it
‘was 36 inches tall. The tree

grew }i‘inches per year. The

tree is now 421-% inches tall.

‘How.many years ago did
Derek piant the tree?
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38,

Jasmine feeds her cat 3 cup of
food ®ach day. There are 6
cups of cat food in the bag.
How many days will the bag
of cat food last?

38,
A rectangle has a length of 4%

inches and a width of 1-—2—
inches. What is the area of

| the rectangle, in square
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